N ARESE AN

20184
BIEIEE: [e)¢
45 58 61 78 8H 98 10H 118 128 18 2H 3H A&t

L+ B ET BEAIE A3 29 31 30 31 31 30 31 30 31 31 28 31 364
TR P R B A 423 464 449 464 465 448 441 449 464 465 395 464 5391
i8I 7 B RS 675 743 719 743 744 718 711 719 743 744 638 743 8640
15 fE(ppm) 0.044 0.047 0.036 0.023 0.024 0.026 0.024 0.021 0.023 0.029 0.033 0.042 0.031
BE D 1BRAE D F 5 {E(ppm) 0.048 0.049 0.039 0.027 0.027 0.030 0.028 0.024 0.024 0.028 0.034 0.043 0.033
R D 1B {BA%0.060pmZ 2 7= H 3 9 13 10 0 2 0 0 0 0 0 0 6 40
BED1BRIEAY0.06ppmZ B 2 F- BRI 73 98 48 0 2 0 0 0 0 0 0 15 236
R D 1BEREAY0.12ppm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
BRE D 1BERAEA0.12ppm L E DB 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
BRE D185 E D &5 E(ppm) 0.083 0.086 0.076 0.057 0.062 0.058 0.050 0.049 0.040 0.045 0.053 0.068 0.086
BRE D H &5 1 BERE D F #1E(ppm) 0.059 0.060 0.051 0.040 0.039 0.042 0.040 0.036 0.033 0.038 0.042 0.054 0.045

EALTIER REAIE A % 30 31 30 31 31 30 31 30 31 31 28 28 362
BRI R B R 450 465 449 464 465 449 444 449 464 465 419 399 5382
B 7 B 720 744 719 743 744 719 714 719 743 744 671 638 8618
3 15 {E(ppm) 0.045 0.046 0.035 0.023 0.023 0.025 0.023 0.020 0.023 0.030 0.034 0.040 0.031
R D185 E D F ) {E(ppm) 0.049 0.050 0.040 0.028 0.027 0.029 0.028 0.023 0.025 0.031 0.035 0.043 0.034
RE D 1ERIEA0.06ppmEBA-HE 9 16 8 0 0 0 0 0 0 0 0 4 37
R D 1B B £%0.06ppmZ #E Z =Bl £ 79 110 43 0 0 0 0 0 0 0 0 12 244
BRED1BRIEAY0.120pm L ED B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
RED 1EERIEAY0.12ppm L F DER%K 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 BRE D & & B (ppm) 0.085 0.088 0.075 0.054 0.055 0.058 0.050 0.048 0.041 0.046 0.056 0.067 0.088
BRE D A &5 1 B ED T 5 {E(ppm) 0.059 0.063 0.051 0.039 0.038 0.042 0.041 0.036 0.033 0.038 0.044 0.052 0.045

A ILFER] & B BEAIE A3 30 31 30 31 31 30 31 30 31 31 28 31 365
R P RE B 450 462 449 464 465 428 464 449 464 465 399 464 5423
i8I 7 B RS 720 741 719 743 744 689 743 719 743 744 642 743 8690
15 fE(ppm) 0.043 0.044 0.034 0.020 0.021 0.024 0.024 0.023 0.027 0.033 0.037 0.039 0.031
BE D 1BRE D F 5 {E(ppm) 0.047 0.048 0.037 0.024 0.024 0.027 0.028 0.026 0.028 0.034 0.037 0.041 0.033
R D 1B {BA%0.060pmZ 2 7= H 3 9 14 8 0 0 0 0 0 0 0 0 2 33
BRED1BRIEAHY0.06ppmZ B 2 1B RS 76 97 29 0 0 0 0 0 0 0 0 5 207
R D 1BEREAY0.12ppm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BERATEA0.12ppm L E DB 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
BRE D185 E D &5 E(ppm) 0.090 0.090 0.075 0.051 0.057 0.059 0.048 0.045 0.041 0.045 0.054 0.070 0.090
BRE D H &5 1 BRE D F #1E(ppm) 0.059 0.061 0.049 0.034 0.036 0.039 0.041 0.037 0.035 0.041 0.045 0.052 0.044

KiR&ith REAIE A % 30 31 30 31 31 30 31 30 31 31 28 31 365
BRI R B R 450 464 449 464 465 429 464 449 464 465 420 441 5424
B 7 B S 720 743 719 743 744 690 743 719 743 744 672 711 8691
3 15 {E(ppm) 0.045 0.045 0.038 0.025 0.023 0.026 0.024 0.023 0.026 0.032 0.035 0.041 0.032
R D185 E D F B (ppm) 0.049 0.050 0.042 0.030 0.027 0.031 0.028 0.026 0.027 0.033 0.037 0.043 0.035
RE D 1ERIEA0.06ppmEBA-BE 12 13 12 3 1 0 0 0 0 0 0 3 44
B D 1B B £%0.06ppmZ #8 Z =Kl £ 90 110 69 7 2 0 0 0 0 0 0 7 285
BED1BRIEAY.120pm L ED B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
RE D 1EERIEAY0.12ppm L E DEREK 0 0 0 0 0 0 0 0 0 0 0 0 0
BED1BRED & & B (ppm) 0.081 0.084 0.076 0.065 0.065 0.059 0.057 0.051 0.042 0.046 0.056 0.070 0.084
REDH RS 1EREIED F1#51E(ppm) 0.059 0.060 0.053 0.040 0.036 0.041 0.041 0.039 0.035 0.040 0.045 0.052 0.045




EASEH BEAIE A3 30 31 30 31 31 30 31 30 31 31 28 31 365
TR P R B 450 461 445 463 465 449 441 449 464 465 420 444 5416
i8I 7 B RS 720 740 715 742 744 719 711 719 743 744 672 714 8683
15 fE(ppm) 0.049 0.046 0.038 0.024 0.023 0.023 0.022 0.021 0.028 0.034 0.039 0.039 0.032
BE D1 BRE D F 5 {E(ppm) 0.052 0.050 0.041 0.028 0.027 0.027 0.027 0.025 0.029 0.035 0.041 0.041 0.035
RE D 1ERIEA0.06ppmZE 2 - H 15 18 9 1 1 1 0 0 0 0 0 4 49
BRED1BRIEAHY0.06ppmZ B 2 1B RS 114 120 49 2 1 2 0 0 0 0 0 11 299
R D 1BEREAY0.12ppm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BERAEA0.12ppm L E DB 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
BRE D185 ED &5 E(ppm) 0.089 0.088 0.079 0.061 0.061 0.062 0.050 0.054 0.044 0.046 0.059 0.065 0.089
BRE D H &5 1 BRED F#1E(ppm) 0.062 0.062 0.051 0.038 0.036 0.038 0.040 0.039 0.036 0.040 0.047 0.051 0.045

HREER REAIE A # 30 31 30 31 31 30 31 30 31 31 28 30 364
BRI R B R 448 464 448 464 464 428 463 448 463 464 419 427 5400
B 7 B RS 718 743 718 743 743 689 742 718 742 743 671 688 8658
3 15 {E(ppm) 0.051 0.052 0.039 0.028 0.028 0.033 0.032 0.030 0.034 0.038 0.040 0.046 0.038
R D185 E D F ) E(ppm) 0.053 0.055 0.042 0.032 0.031 0.035 0.034 0.033 0.033 0.038 0.041 0.047 0.040
RE D1 ERIEA0.06ppmEBA-HE 12 19 9 2 0 3 0 0 0 0 0 3 48
R D 1B B £%0.06ppmZ #8 Z =Kl £ 100 158 62 7 0 10 0 0 0 0 0 6 343
BED1BREIEAY0.120pm L ED B %k 0 0 0 0 0 0 0 0 0 0 0 0 0
RE D 1EERIEAY0.12ppm L E DEREK 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D 1BRE D & & B (ppm) 0.092 0.093 0.073 0.068 0.056 0.064 0.057 0.056 0.045 0.054 0.057 0.063 0.093
BREDHRE 1FERE1ED F1#51E(ppm) 0.061 0.064 0.050 0.042 0.040 0.044 0.044 0.042 0.038 0.043 0.047 0.055 0.048

ERfE SR AT BEAIE A3 30 31 30 31 31 30 31 30 31 31 28 31 365
TR P R B R 449 464 448 464 464 428 464 447 464 464 419 445 5420
i8I 7 B RS 719 743 718 743 743 689 743 717 743 743 671 715 8687
15 fE(ppm) 0.047 0.051 0.039 0.027 0.027 0.031 0.029 0.029 0.032 0.037 0.038 0.045 0.036
BE D1 BRE D F 5 {E(ppm) 0.051 0.055 0.042 0.030 0.030 0.034 0.032 0.031 0.031 0.037 0.039 0.046 0.038
RE D 1EFR{EA%.060pmZ 2 7= H 3 10 19 9 1 0 1 0 0 0 0 0 5 45
BED1BRIEAHY0.06ppmZ B 2 F- BRI 86 155 7 1 0 4 0 0 0 0 0 18 335
R D 1BEREAY0.12ppm L E D HE 0 0 0 0 0 0 0 0 0 0 0 0 0
BRED1BRAEA0.12ppm L E DB 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
BRE D185 E D &5 E(ppm) 0.094 0.089 0.079 0.061 0.057 0.064 0.056 0.050 0.044 0.053 0.056 0.067 0.094
BRE D H &5 1 BRED F#1E(ppm) 0.061 0.065 0.052 0.041 0.040 0.042 0.043 0.041 0.038 0.043 0.046 0.055 0.047

FETH REAIE A % 30 31 30 31 31 30 31 30 31 31 28 31 365
BRI R B R 449 464 448 464 464 427 464 448 464 464 419 443 5418
B 7 B RS 719 743 718 743 743 688 743 718 743 743 671 713 8685
3 15 {E(ppm) 0.044 0.048 0.038 0.025 0.025 0.027 0.023 0.019 0.025 0.030 0.034 0.039 0.031
R D185 E D F 4 {E(ppm) 0.048 0.051 0.040 0.028 0.028 0.031 0.028 0.022 0.026 0.030 0.036 0.041 0.034
RE D1 BERIEA0.06ppmEBA-BE 12 16 9 0 2 1 0 0 0 0 0 4 44
B D 1B {E£%0.06ppmZ #8 Z =Kl £ 84 125 39 0 2 1 0 0 0 0 0 12 263
BED1BRIEAY0.120pm L ED B3k 0 0 0 0 0 0 0 0 0 0 0 0 0
RED 1 EERIEAY0.12ppm L E DEREK 0 0 0 0 0 0 0 0 0 0 0 0 0
BE D1 BRE D & & B (ppm) 0.093 0.083 0.082 0.059 0.066 0.062 0.050 0.047 0.040 0.044 0.056 0.069 0.093
R ] = 15 {E D F #41{E (ppm) 0.060 0.063 0.052 0.038 0.039 0.042 0.040 0.036 0.033 0.039 0.045 0.053 0.045




